
q.xf)

l-ato

G)

43.
--

A

h-7 q

t*ad
h'?

=)0
=)g

+o

=)

(2t

,?iltt -+ ?t

= q,gli (;*s.t -!L?L'
= q.st-L L t h.ltt -+.7

,Iu

= +.qt' a- q -gt + +-?

s {' Lt. +/
2 (t ?tLe t)

f =l*r.

= il*t
= 1.8f2 GrQt (')

= e.8 J? 
#.

, 9'Q 'i

1,.8t *- +.7L

h?G^

a

1",?

? 1-8

-t)

.L

lrcl
l?al



(b)

st

=)o
:)o

-/

2

= tl r; 3e't L?& et'
= *qLt -t_1ke"t'
5 t( w- LVesi

vp

=) V*

f =o €?*

= uG^to-g€;9t
s so .E y*. (t
= lro J*l 'W*< I

,e9* lo - 3 C49L

qo-tf Aa A 4 =o

+ = 8o-
i ' 

{_C^A

? t'c

vJ

V1

4
%

= so.*- -; gcoe r ffi)
ho - ?o

- ltO



{^L z -V*T
lvo

to[T -8o f--. I

fr,*9

2_

JT'/

s)

+

=)

Wtr = €b ,n - t 6b fo-*g

4" Ja G 80,tr 5 6**

Jf=
+
i.3.1*o = I

i.e.z^o JT

-40

40$-So +

I
0i) V*- 3

V"3
d

= Lo.J" 'rtE*f

t
E

E.-


